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NdD: model est vs obsOv@Q50
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dStH: avg vs. d

4.0

3.5 1

3.0 A

2.5 A

2.0 A

-

@

= o

avg

20

30

40

50 60




page 18

4.5

4.0

3.5

3.0

2.5

2.0

1.

5

dStH: obsAvg vs obsO0v@Q@50

g50 |
est |
avg

..’o/

30

50

60



dStH: D_5d_StH

20
—4—  pcrDelta_avg
page 19 P | A e R e~ . — I R < & VU
_20 -
_40 -
_60 -
20 30 40 50 60



page 20

dStH: D_15d_StH

20 A

_20 .

_40 .

—4—  pcrDelta_avg

20

30

40

50

60




dStH: D_Q50_StH

page 21 0

—

pcrDelta_avg

20

30

50

60




page 22

dStH: D_Est_StH

100 -

75 -

——

pcrDelta_avg




dStH: sfDem

—@— sfDem

1.50

1.25 4

page 23

10 20 30 40 50



40
20

1
~ o — ™
o b © ©

page 24

| IR I A N R D R R e
O~ =~ MO ~®re— IO ~O0 — ™
—Fmrr AN ANN®OOO®m® S S

P

[ T T R |
O~ — ™ o
LTI H BB

0
©




page 25

FrV: FrO1 vs Fr05 at each truss
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FrV: model
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FrV: obsFrV vs obsFrV@Q90
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P6AW FrV: D Ts FrV
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P6AW FrV:
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P6AW FrV: D Est FrV
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